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48 = 14.5 14.0 == BE me |
68 i 28.0 20.0 =IE BE me |
8A = 29.0 215 =IE BE |meE mE
108 = 23.0 21.0 =IE BE me |
128 i 14.0 145 =IE BE me |
2B = 10.0 13.0 =B B e me
4 ERSIEE 3
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) _| (MPN/100ml)
E&(E]| 656~85] 75LLF | 20LLF | 25L0F | 1000LLF
EHE (75%1E) - 9.3 0.6(0.6) 1 490
48] 74 11 0.8 2 200
68| 72 8.9 0.6 1 23
sAl 7.1 8.4 <0.5 1 210
108] 7.1 8.3 <0.5 1 2400
12A] 72 9.5 <0.5 2 93
28] 73 9.8 <0.5 <1 23
BEEE
NP INESD ) NEonL  fE HiKEE  [ZxILkiE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
K& 0.01LLF | FEHRE | 001LLF [0.058LF [0.01LLF [ 0.0005LLF
EH{E - - - - - - -
agl - - - - - - -
;] - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
28— - - - - - -
ooant .o |1L,2-070(1,1-Zan| Y X-1,2->50][1,1,1-r)%0
PCB g, | PEERE | Qe | xRl OTFLY OT4y
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
R ERE [002LLF ] 0.002LLF [0.004LLF] 0.02LLF [ 0.04LLF 1LF
I - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
28— - - - - - -
1,1,2-ky4 [FUZAR|FrS9a0I(1,3-247A = S mpate FARA
nazss | 3Ly | FLv | ngas | TOIA| YROV LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#{8]0.006LLF|0.03LLF| 0.01LLF [0.002LLF [0.006LLF] 0.003LLF | 0.02LLF
I - E E - - - -
agl - - - - - - -
;] - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEE] 0.01LLF [001LLF[ 10LLF 0.8LLF 1LLF
[ Tl - = - - -
2/ - - - - -
6Al - - - - -
sAl - - - - -
104 - - - - -
124 - - - - -
28] - - - - -
ZTDHIEE
N—~EH \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
TH{E = 0.44 0.049 - 0.005 - -
4R - 0.54 0.058 - <0.005 - -
64 - 0.63 0.064 = <0.005 - -
8A - 0.38 0.030 = <0.005 - -
104 - 0.30 0.060 = <0.005 - -
124 - 0.33 0.025 = 0.006 - -
28 — 0.45 0.056 — <0.005 - -
(Y AR | UV B . - e = i s
IT/=| kS coD el > AE BRIzEXR
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) () (uS/cm)
T{E - = 0.6 - - - 54
4 A - - 1.1 - - - 6
64 - = 0.8 = - - 60
8A - = 0.2 = - - 60
104 - = <0.5 = - - 60
124 - = <0.5 = - - 80
28 — — 0.5 — — — 60
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48 = 14.5 14.0 =IE BE me mR
68 i 28.0 225 =IE BE me mR
8A = 29.0 22.5 == BE ) mE
108 = 23.0 22.0 =E BE ) mE
128 i 14.0 135 =IE BE ®me mR
2| = 10.0 12.0 RE B EE ma
4ERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
E&(E]| 656~85] 75LLF | 20LLF | 25LLF | 1000LLF
EHE (75%1E) - 9.5 0.5(0.5) 1 610
48] 7.1 11 <05 2 200
6A|l 710 8.7 0.6 1 23
8A|l 710 9.0 <05 <1 750
10A] 71 8.7 0.5 <1 2400
12A] 70 10 0.5 1 240
28 7.0 9.5 0.5 <1 23
BEEE
N INESS P R AR ES ks |7xukeg
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
| E(E] 001LLTF [ JEEH | 001LLF [0.05LLF | 001LLTF | 0.0005LLTF [ FE4EH |
B3] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
6A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
8A - - - - - - -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12A8] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
28 - - - - - - -
o004 nwe |1,2-090[11-S500|P2-1,2-250(1,1,1-k)50
PCB 5 bR Ak 3 axs | T A hTse
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
eeiE] JERE [0.028LF | 0.002LLF [0.004LLF | 0.02LLF | 0.04LLF 1LTF
SER{E] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
4 B[ <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
6A| <0.0005 [ <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
8AH - - - - - - -
10A] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
12A8] <0.0005 | <0.002 <0.0002 | <0.0004 | <0.002 <0.004 <0.01
28 - - - - - - -
1,12-ky4 MO0 (F549a0x(1,3-990 = s = ose FARUH
nazsy | TFLY | FLy | @ox | TOIL | YRTY ]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
B {E]0.006 L 0.03LLF | 0.01LLF [0.002LLF [0.006 L F| 0.003LLF 0.02LLF
EfE[ <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
4 B[ <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
6A| <0.0006 [ <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
8A - - - - - - -
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12A8] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
28 - - - - - - -




HEBHEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 0.29 0.1 0.1
4H] <o0.001 <0.001 0.28 <0.1 <0.1
6A] <0.001 <0.001 0.34 <0.1 <0.1
8H - - - - -
10H] <0.001 <0.001 0.29 0.1 0.1
12H] <0.001 <0.001 0.26 0.1 0.1
2R - - - - -
EDHIEE
N SR | 28 @ | 2E® | sankus | LTV
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
T{E - 0.39 0.038 <0.04 <0.005 <0.001 <0.008
4R - 0.48 0.049 <0.04 <0.005 <0.001 <0.008
64 - 0.52 0.074 <0.04 <0.005 <0.001 <0.008
8H - 0.34 0.023 <0.04 <0.005 - -
10H - 0.29 0.043 <0.04 <0.005 <0.001 <0.008
128 - 0.30 0.009 <0.04 <0.005 <0.001 <0.008
28 - 0.40 0.028 <0.04 <0.005 — —
BiLH HAHRRYE | VB s Repp——
IT/=| xS coD el > AE EXizER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EHE]  <0.02 370 0.9 <0.01 0.03 - 1400
4AH| <0.02 130 1.2 <0.01 0.04 - 50
6A] <0.02 72 1.8 <0.01 0.06 - 290
8H - - 0.9 - 0.02 - 630
10H]| <0.02 610 <0.5 0.01 0.01 - 2100
12H]| <0.02 650 <0.5 <0.01 <0.01 - 2300
2R Z - 0.6 - 0.02 — 3300




